D.School ZEREICDWVWT S8 FE 4 BElE
0 MIE3BETORS
[%}& - BAFRESRRI]

] EH Sk [=]%% h\2~6 7\
FH 14:30~18:00 1 — 11,000H/H +1,000H
AR B B
Ea = 8:00~16:00 1[8] 3,000/3/[E] +500M4
138 8,000M9/3&
2:8MHE 13,0001 /38
FH 3:EME 18,0001 /38 +1,000H
REARRR 8:00~18:00 45EfE 23,0008
58/ 28,0008
+iER H1[E 3,000/3/[E] +500M4
2y~ 18] 2,000f3/[E] +500M4
. 7:30~8:00 1[3]
N E
18:00~21:00 5003
ER (200M)
2Ry~ 30907
16:00~21:00
T 5009 (300F9)
XKEEZG HD
KTk E Mg
[&Him%] ¥7:30~21:00% CHEE A4S
HWZ K 1,000B\HB XKESE - AT FER

%2Ry N EREFTEICRS
[&Rar]
AR, FXEH. T-LFVI1—0, bR

[BIiERlEDDERH D]
- 77l ~FIE% 6508
- HESREIEE £4,000M9(%&3,000) (Fi#A:4~9H. #%HI10~38)
[—izL v AV 3EZI5]]
FBEAR R E TP

A
MAoLy Ry
AR =7 (1,000[OFF)

PO HFEE . 2,000”OFF

(3,000[OFF)

. 3,000/3OFF
IRIS=YY (5,000FHOFF)

[==) N . 3377 4=z t;b
FRERE - RERIRFEEHFEE SR El (1 ,OOOHOFF)




